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8 WA R ST g | B FERAENE
1 WA R 340223 %kksk0k% 1 12X 87.40 *
2 AR R 320382k 1949 78.80 *
3 R R GR} 320682skkokonck4243 74.40 *
4 R R 321322k 3440 72.80 *
5 JERIRE AR 321322%kkkkxkx5141 72.60
6 AL AR 320682kkkk5k%662 1 70.20
7 iR N A 32068 3kkskkxk%0225 63.80
8 B R 320684skskskkx 2187 70.60 *
9 i ed AR 32068 Dwoksokokx5427 84.20 *
10 Jiyeg P 340123 %5355 5600 74.60
11 i ed AR 320623 kkkk50027 69.40
12 Jiyeg P L 320683 %kkkx3k0029 69.00
13 i ed AR 32062 1 sekpieotiorx8148 64.20
14 Jif g A A 320482 kkkk3k %6701 63.40
15 s 321323sskskk44%% 1955 72.40 *
16 MR 320982 kkkok30k %0867 67.40
17 P Py AL 32068 4sktsoisiokk4924 81.20 *
18 P Py AL 320682skksckokk 578X 78.80
19 P Py AL 32062 1 seketsoiokk(0524 70.80
20 A 320682kskickiox5196 68.80
21 e Py A 211203 %skskiek5%0027 e
22 AR YN 14260 Isotsotsokork23211 83.20 *
23 LR 32068 3sketskokick k6025 76.60
24 ZERRL 32062 1 ksksksoskokk51 14 74.20
25 LA 320682k 1006 68.40
26 LA 342425%skskkokkk4025 67.40
27 LR 411481 keketototkk5124 66.20
28 LR 411524kskkkofotok 142 53.60
29 HE R 2R 342625%skkkeickok 2546 76.00 *
30 H AR 510503kskskk%0613 79.80 *
31 HHhE 321282sssksktk0040 78.60 *
32 AR 23052 1tk 1 714 73.40 *
33 AR 411526%kks0kk3k6 345 67.80
34 HH 320623skksotsokk 1 239 79.40 *
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35 gy il 32091 1skskskskskskkk8679 74.80 >
36 R 32028 1 kskskskskkkk (0052 71.40
37 R 32091 1 kskkkskkxk661X 71.40
38 R 320602%kkkkk%%5919 67.40
39 HE 32058 3sksksketetotodok 7614 66.00
40 R 230125%skkskkkkx 1818 66.00
41 ool Z AL 32068 2kskkskkkkx3432 71.60 *
42 PR AR} 120223%sksk%5%3512 68.60 *
43 BRI E 34222 ] skkisksk k9226 69.20 *
44 JRIEE AL 32072 1skskkksorsk 006X 78.20 *
45 Ho 2 S 32068 3kskkkkkk k2562 80.80 *
46 Hh S 23 220182%xkkkx%%2946 79.00 *
47 H & 2 320623 kkk5550026 77.30
48 o 2 340403%kxkkkkok 2658 76.40
49 B 2 32068 2kksktkokx k6627 72.90
50 H 22 2 342929 1 kkkkkkkk4524 72.80
51 S 2 321 183sksksketstesokek 1 322 71.60
52 SR 15230 Dkteteterkek 4027 70.80
53 = 362203tk 0027 69.20
54 2 320684 kskkskkkkk0863 68.60
55 = 32062 3kkkskkekkk664 7 68.20
56 Sl 230103kkwknkx2824 65.60
57 i 32062 1sskskstokekkk6123 65.60
58 R =R 320602skkskkkskk 2524 81.60 *
59 B At 320683 skkickk k6268 78.60
60 R AEEFR} 320682k kkkkxiok] 148 72.00
61 iR 320623k 436X 71.80
62 =R 32068 Dskokk+3848 71.00
63 RS 321282kkkk 0828 69.60
64 =R 23071 Dswoksokkx0128 69.40
65 R S 510723kkskrkx4082 69.00
66 =R 230105%kskkx1927 67.60
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67 AER 320684tk 2161 79.80 *
68 AG R} 62280 I kkkkkdk 1811 78.40 >
69 606 B 37040 6% %kkkk%%k6627 77.40 *
70 o E R 320602%kkkkkk%kx0023 74.80 *
71 K Ie Rk 320682:kkketcterekk2645 60.40
72 JH- s B 5% B 320682k kkkk %6284 76.00 *
73 JH-I I 72 P 3206023kkskk5k0026 69.40
74 e A 245 25 3 371329%%kkk5k%5414 79.75 *
75 it A 245 27 5 321283skskstokotok k4629 76.00
76 I PR 245 27 612726 kstkotx0629 70.75
77 it A 24 27 5 32062 Ikstokotolotolok 732X 69.75
78 e A 245 25 1406023584902 1 69.50
79 Eall 412723 kkkotko54 686X 76.40 *
80 I 55 F4 320925k ki3 124 75.60 *
81 g 320683 %kkkkx3k7 163 70.20
82 W 55 L 32068 2skskskstokotokk 3442 ;=3




